\$1. The Basic Formules:

Definition: An elementary function is me built from
$$x^{a}$$
, e^{x} , $ln(x)$,
sin (x), $cos(x)$, $axsin(x)$, $arctan(x)$ & constants
built from = add, $uultiply$, divide, substract & compose.
Example: $arctan\left(\frac{ln(x^{2}+cos^{2}(x))}{e^{x}+sin(x^{2}\cdot s+1)}\right) + 1$
Note: $①$ Simple rules for differentiation of building blocks + than / Product/Quotient

Rules give eavy ways to determine the derivatives of elementary functions. Threase, these derivatives are made again elementary functions.

(2) Integration is more subtle : there is NO systematice way to do it & the output need not be an elementary function! more be have a <u>necognition problem</u>: (1) what method should we use? (2) how to apply it?
From the (Appendix A9)

Li (x) =
$$\int_{2}^{x} \frac{dt}{dt}$$
 & $\int_{3}^{x} e^{-t^{2}} dt$ on not dominanty functions
(3) 15 basic formulas to use (pages 335 & 336 of textbook & handout)

Substitution is the analog of the Chain Rule for integration as accognition
Substitution is the analog of the Chain Rule for integration as accognition
problem!
Substitution Rule:
$$\int_{a}^{t} f'(g_{1t}) g'(x) dx = \int_{a}^{g_{1t}} f'(u) du = f(u) \begin{vmatrix} g_{1t} \\ g_{1t} \\ g_{1t} \end{vmatrix}$$

 $u = g_{1t} \\ du = g'(t) dt \quad t = b = u = g_{1t} \\ du = g'(t) dt \quad t = b = u = g_{1t} \\ du = g'(t) dt \quad t = b = u = g_{1t} \\ du = g'(t) dt \quad t = b = u = g_{1t} \end{pmatrix}$

$$\frac{E \times AHPLES}{e} (1) \int_{0}^{2} \times e^{-\chi^{2}} d\chi = \int_{0}^{-4} e^{u} \frac{du}{du} = \frac{1}{2} \int_{0}^{2} e^{u} du = \frac{1}{2} \left(e^{u} \Big|_{-4}^{0} \right)^{(3)} \frac{e^{-\chi^{2}}}{e^{-\chi^{2}}} = \frac{1}{2} \int_{0}^{2} e^{u} du = \frac{1}{2} \left(1 - e^{-4} \right)$$

$$(2) \int_{0}^{\pi} \frac{dv \times dx}{\sqrt{1 + 34n x^{2}}} = \int_{0}^{2} \frac{du}{\sqrt{1 + 34n x^{2}}} = \frac{1}{2} \int_{0}^{2} \frac{du}{\sqrt{1 + 4x^{2}}} = \frac{1}{2} \int_{0}^{2} \frac{du}{\sqrt{1 +$$

<u>§3. lertain Trigmentric examples:</u>

GOAL: Find a method fr integrating these is functions: ① ∫ sin^m(x) cosⁿ(x) dx ② ∫ tan^m(x) sicⁿ(x) dx ③ ∫ cot^m(x) cscⁿ(x) dx

Why? $\frac{d \sin x}{d x} = \cos x$ $\frac{d \tan x}{d x} = \sec^2(x)$ $\frac{d \cot(x)}{d x} = -\csc^2(x)$ m> Auswers to (1), (2), (3) will depend in the parity of m & n EXAMPLES: (1) (n=1) $\int \sin^m(x) \cos x \, dx = \int u^m du = (\frac{\sin x}{m+1} + C)$

Trick: Use trig identities to turn integrand into sums of functions of the firm (1) $cos^{(x)}$ sun(x) (if m is Obb) $\underline{\pi}$ (2) us(x) (if n is Obb) Why is this good? These turns can be integrated by a simple substitution ! How? We show it for (2) & then for (1): . If <u>n is obb</u>, we can write n as n=2k+1 for some integer k ≥0. Then $\omega^{*} x = \omega^{2k+1} = \omega(x) \omega^{2k}(x) = \omega(x) (\omega^{*}(x))^{k} = \omega(x) (1-\delta \omega^{2}x)^{k}$ Then, the Binimial Theorem allows us to expand (1-sen² x)^k: $(1 - \sin^2 x)^{k} = 1 - k \sin^2 x + {k \choose 2} \sin^4 x - \dots + (-1)^{k} \sin^{2k} (x)$ $\underline{\text{Conclude}}: \quad \text{Sen}^{m}(x) \, \cos^{n}(x) = \text{Sen}^{m}(x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \sup_{(x) \in X} (x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \exp^{2k}(x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \exp^{2k}(x) \, \cos^{2k+i}(x) = \sum_{j=0}^{\infty} (-i)^{j} {k \choose j} \, \exp^{2k}(x) \, \cos^{2k}(x) \,$ easy integration . If m is ODD, with m= 2k+1. We reverse the roles of sin & cos : (u=sin × substitution!) $\sin^{2k+1}(x) \cos^{n}(x) = \sum_{j=0}^{k} (-1)^{j} {k \choose j} \cos^{2j+n}(x) \sin x$ eony integration by substitution u=cos x.

EXAMPLES :

$$(\underline{m=3}, n=0) \int \sin^3 x \, dx = \int \sin x \, \sin^2 x \, dx = \int \sin x \, (1-\cos^2 x) \, dx$$
$$= \int \sin x \, dx - \int \sin x \, \cos^2 x \, dx = -\cos x + \frac{\cos^3 x}{3} + C$$
$$= \log x \, dx - \int \sin x \, \cos^2 x \, dx = -\cos x + \frac{\cos^3 x}{3} + C$$

$$(m=z, \underline{n=z}) \int sun^{2}(x) \cos^{2} x \, dx = \int sun^{2} x \, (an(x)) \, (an(x)) \, dx = \int sun^{2} x \, (an(x)) + in(x) \, dx$$

$$= \int sun^{2} x \, (an \times (1 + t+in)^{4} X - 2 sun^{2} \times) \, dx = \int (an \times sun^{2} \times dx + f(an \times sun^{2} \times dx - 2 \int (an \times t+in)^{4} \, dx = \frac{sun^{2} x}{s_{1}} + \frac{sin^{2} x}{6} - \frac{-2}{2} sun^{2} \times + C$$

$$= \int (an \times t+in)^{4} \, dx = \frac{sun^{2} x}{s_{1}} + \frac{sin^{2} x}{6} - \frac{-2}{2} sun^{2} \times + C$$

$$(ASE B : b) + t m g n and EVEN (is 0, 2, 1, 6 \dots)$$
White $m = 2k$ $a = n = 2k$ for $4n, k > 0$ integers.
Use half - angle formulas!

$$\int (an^{2} \times + sin^{2} \times = 1) \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) zx}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) zx}{2 (an^{2} \times = 1 + cn) z}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) z}{2 (an^{2} \times = 1 + cn) z}$$

$$(b) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) z}{2 (an^{2} \times = 1 + cn) z}$$

$$(c) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) z}{2 (an^{2} \times = 1 + cn) z}$$

$$(c) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) z}{2 (an^{2} \times = 1 + cn) z}$$

$$(c) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) z}{2 (an^{2} \times = 1 + cn) z}$$

$$(c) + t = 1 \qquad max = \frac{2 (an^{2} \times = 1 + cn) z}{2 ($$